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Wi k. BASICEZHF

list

8 let kl=50

10 rem complex method basic program
20 rem e=epsilon

30 rem z=zeta

35 input =n, p )
40 dim x(2+n+ 1, n), a(n), b(n), c(p), f(2+n+ 1), m(2+a), h(2:n)
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45 let k2=10

50 read €, z

60 for j=0 to n
70 read a (j)

72 read b (j)

80 next j

90 for j=1 ton

100 let x (1, ) =a () +rad (0) * (b(p-a())
110 next j -

120 let i=1

130 gosub 1290

140 if o=0 goto 90

150 for j=2 to 2en+1

160 for k=1 to n
170 let x (j, k) =a (k) +rnd (0) = (b(k)~ack)) -~
180 next k

190 next |
200 let s=1
210 for j=1 to n

220 let t=0

230 for k=1 to s

240 <EROT.Qét. t:t 4 (K, )
250 next k

260 TAY let x (0, §) =t/s

270 next j

280 let i=s+1(3° .0,

290 (!gosub 1290

300 if o=1 goto 370

310 for j=1 to n :

320 let x (541, =x(0, D + &xG+1, D-x(0, ) /2
325 let x +1,) =x(s+1,) +1 e-8’
330 next j

340 let j=s+1

350 gosub 1290

360 goto 300

370 if s=2en goto 400

380 let s=s+1

390 .. goto.: 210 =



400
410
420
421
422
423
424
425
426
430
590
600
610
620
640
650
660
662
664
666
670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840

let nl=1
for k=0 to Z2en
let yl= 17e¢x(k,1)+(1 +x(k,8))
let y2=-<5+x(k,2)+x(k,5)*(1 +x(k,9))
let y3=eBex(k,8)ex(k,6)+(1 +12,486/(x(k, 8)+x(k, 9)))
let y4=2.085-x(k, 4)*x(k,7)
let y5=+4226+y1++9914+y2+y4+sin(x(k,10)) — +3746+¥3
let y6=205+ydscos(x(k,10))
let f(k)=y5-y6
next k
for k=1 to 2en
if abs({(o) —-f(K)/f(0)>>e goto 640
next k
goto 1428
for j=1 to 2en
let m(j)=£(j)

next j

for j=1 to 2en
let h(j)=]

next j

for j=1 to 2wn-—1
for k=j+1 ‘1o 2+n
if m(j)>m(k) goto 760

let f=m(j)
let m(j)=m(k)
let m(k)=f
let g=h(j)
let h(j)=h(k)
let h(k)=g

next k

next ]

let m=1

let h=h(m)

for j=1 to n
let x(0,j)=(x(0,j)*(2*n)-x(h,j))/(2*0=1)
next j
let i=o0
gosub 1290



850
860
870
880
890
900
1000
1010
1020
1030
1040
1050
1060
1070
1080
1081
1090
1100
1101
1102
1103
1104
1105
1106
1110
1120
1130
1140
1150
1160
1170
1180
1190
1195
1200
1202
1210
1220

if o=1 goto 1010
let w =h(2+n)
for j=9 to n
let a(j) =x(w,))
let b(id)=x(0,))
next j
goto 80
let g=1.3
for j=1 to n
“let x(2en+ 1, =x(0,)+q(x(0,))—xCh,
next j
let i=2+n+1
gosub 1290
if o=1 goto 1100
let g=q/2
if q<=2 goto 1150
goto 1020
let v1=17+x(21,1)+(1 +3€(2],8))
let v2=+5+x(21,2)*x(21,5)*(1 +x(21,9))
let v3=+5+x(21,8)x(21,6)+(1 +12-486/(x(21, 8)+x(21,9)1)
let v4=2,085+x(21,4)+x(21,7) e
let v5=+4226*v1++9914=v2+ v4e sin (x€£21,10)) + +3746+v3
let v6 =205+ vdecos (x(21,10)) '
let f(21)=v5+ve
if f(2en+1)<{(h) goto 1180
if q<=z goto 1150
let q=q/2
goto 1020
let m=m+ 1
let h=h(m)
goto 1020
for j=1 to =n
let x(h,j))=x(2*n+1, )}
next j
let nl=n1+1
if 01>kl goto 1550
for j=1 to n
let u=9p
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1230
1249
1250
1260
1270
1280
1290
1291
1292
1293
1294
1295
1296
1297
1298
1299
1300
1340
1350
1360
1362
1364
1366
1368
1370
1380
1390

- 1400

1410
1420
1425
1428
1429
130
9

Iy
146\
1465

for k=1 to 2+n

let u=u+x(k, j)

next k
let x(0, )=u/(2+n)
next j
goto 410
let c(1)=+5+x(i, 2)*x{i, 5)¢ (1 +x(i, 9N
let c(1)=c (1) ~17+*x (i, 1) *x (i, 8) ~x (i, 1) —~20
let c(3)=1 —3.8437+ (1 +x(i, 8)) / (x(i, 8)*x(i, 1)13)
let ¢(4)=1 -507.788/ (x(i,5 )*x(i, 2313
let ¢(5)=1 —808-6/ (x(i, 6 )+x(i,3)13)
let c(6)=1-826-82/ (x(i,T)ex(i, 4)13)
let c(7)=12+486/ (x(i, 8)*x(i,9)) —x (i, 9)

let
let
let
let

for

if

next

for

o(8)=3,17-12,486/ (x(i, 8)+x(i,9))

c(9)=x(i, 9)~x (i, 8)

c(2) =6,243+x(i, 3)+x(i,6)/ (x(i, 8)x(i, 9)) +x(i, 8)+25
c(2)=2,085+*x{i, 4)*x(i, T)~c(2)

j=1 to p

c(j)<<0 goto 1390

i

j=1 to n

if x(i,j)<<a(j) golo 1390

if

next

let

x(i,i)>b(j) goto 1390
i
o=1

goto 1400

let

o=10

return
data 01, 1

data o0, 0, 1.75, 2.25, 2,25, 8, 8, 4, 8, 4, 20, 30
dalﬁ 19, 25, 19, 25, 2, 2,5, 2, 2,5, .78563, 1,57

print nl

print

priat ‘x(i, ;> and {(j} are; /

print

for j=1 to 2+n

for k=1 to n

let k2=k2+1
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